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Characteristics of a Sine Graph

(0,9) (E{'/‘D

D
ook (Wlo) (ZW'>
W'a) (‘E“;‘b .
A WIIG1INE
\=0

Period - _\ DEY104 = \ como\e\ﬁ L\IC\Q (ZW)

Domain - X~ VOWwes (\ef+ 4o (ignt) ™ (-0, )

Range - _ N~ valvés Uoo\-\-om L) '\\p) El i ‘]

Amplitude - i\&ﬂﬂ'&e oM wild \ine R wWax or M‘ﬂ

Phase Shift - NOW hf 10 Wiyt \C‘("\’ o rant

Vertical shitt - W {2 40 wove (p oy dowy)

Graphing Variations of the Sine Function
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1. ldentify the amplitude and period.
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2. Find the values of x for the five key points (the x-intercepts, the maximum point, and the minimum
point). Start with the value of Eavhere the cycle begins and add the quarter period.
3. Find the values of y for the 5 key points by evaluating the sine function
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4. Connect the 5 key points with a smooth curve and graph one complete cycle of the function.
5. Extend the graph to the left and right as desired.
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Find the 5 key points. Dive the period by 4 to get the quarter period. We start with the value of x where the
cycle begins.

Amplitude = &

2Y w s
xi=0 X2=°+T\'=.¥ X3=l;_ ';.’\’=-“- x =W -g-: ‘3{ x5=3l:.|r =i 21
yi=0 Ye= L Ys = O BuE A2 ys= O

3.y sin(2x)+1\ v noné

z vup
Amplitude = Period = Z 1‘- Phase shift=_C= ) Vertical Shift = i

Find the 5 key points. Dive the period by 4 to get the quarter period. We start with the value of x where the
cycle begins.
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Find the 5 key points. %we the period by 4 to get the quarter period. We start with the \(alue of x where the
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Find the 5 key points: Bwe the period by 4 to.get the quar_t‘c‘a,} period. We start with the value of x where the
cycle begins. 4
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Find the 5 key points. Dive the period by 4 to get the 1?_ rter period, We start with the value of x where the
cycle begins. - /a
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Find the 5 key points. Dive the period \éy 4 to get the quarter period. We start with the value of x where the
cycle begins. am
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